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QUESTION 1

What is a characteristic of EMC NetWorker deduplication with Avamar? 

A. Identifies and stores only unique, variable-sized, subfile data objects 

B. Uses target-based deduplication 

C. Uses file-based deduplication 

D. Identifies and stores only unique, fixed-sized, metafile data objects 

Correct Answer: A 

 

QUESTION 2

What is a disadvantage of using tape to store backup data? 

A. Longer restore time 

B. High cost 

C. Offsite storage not possible 

D. Parity overhead 

Correct Answer: A 

 

QUESTION 3

Which factor impacts the data deduplication ratio? 

A. Retention policy 

B. Backup time 

C. Operating system 

D. Backup media 

Correct Answer: A 

 

QUESTION 4

When using array-based local replication, what component performs the replication? 

A. Storage system 

B. SAN switch 
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C. Host system 

D. Network switch 

Correct Answer: A 

 

QUESTION 5

What is an advantage of performing a hot database backup over a cold backup? 

A. The database is accessible to users. 

B. Backups are faster. 

C. There is no impact on the database. 

D. Network bandwidth use is reduced. 

Correct Answer: A 
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